PSCSCC MAINS EXAMINATION-2020
GENERAL STUDIES (PAPER-II1)

Time Allowed: Three Hours Maximum Marks: 250

INSTRUCTIONS .

Please read the following instructions carefully before attempting questions:

a)
b)
o)

d)

f)

All questions are compulsory.

Word limit for each question is mentioned with the qu-:stzon Candidates are instructed to
adhere to the specified word limit.

Answers must be written in the medium authorised in the Admission Certificate which must be
stated clearly on the cover of the answer book. No marks will be given for answers written in a
medium other than the one authorised. -

Each question. along with its parts and sub-parts is required to be attempted only in the space
specifically allotted to it in the answer book as indicated below:-
Q.1 |Pagesi-2 0.6 Pages 11-12 0.11 | Pages 21-22
Q.2 | Pages3-4 Q.7 Pages13-14 Q.12 | Pages23-24
Q.3 | Pages5-6 Q.8 Pages 15— 16 Q.13 | Pages 25-26
0.4 | Pages7-8 Q.9 Pages 17—-18 0.14 | Pages 27 — 28
Q.5 | Pages2-10 Q.10 | Pages19-20 | Q.15 | Pages 28 -30

: Q.16 | Pages31-32

Q.17 | Pages33-34 .

The space corresponding to any unanswered questions will be marked with a cross.

No extra sheet shall be given.
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Q.1

Q.2

Q.3

Q4

Q.5.
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Discuss the characteristics of the Indian labour market. What are the reforms that are
needed to improve the state of employment in India and what do the four codes on
wages, on industrial relations, on occupational health, safety and working conditions
and on social security propose in achieving the labour reforms? (200 words) (Marks 15)

93t HAET HST € ¥ ¥9 9997 9| ¥93 59 gEerd ¥ O3 NU9s TS
faaawéfvsam?m Gedifom mey, foz fros, gdftnr 3 S ot T3
m*gmnﬂa'aafuwgwagfeajmé}mﬁma?mhaﬁ?
(200F5%) (mia 15)

“Infrastructure investment is one of the key pillars of sustained economic
development”. Critically Examine the recommendations of the Task Force on National
Infrastructure Pipeline to promote Infrastructure Investment in India. (100 words)
(Marks 10 )
“gfeviet wior fosn vifam feam § afen Juz =@ wifor &y T fea T17
s9s! glone! B9 feu fovm fett =t it sfonrst udhy wets o9 oy e9r
@it frerfort = ni@easHa fodtus a1 (100 Fa) (= 10)

o

Explain the structure and state of the power sector in India. Present a critical analysis of
the government proposal to privatise power distribution companies in the country via
the Electricity Amendment Bill 2020 and the Draft Standard Bidding Document for
privatisation of Discoms. (200 words) (Marks 15)

393 feu famedt 339 & s wid o favis a9 faEe B s 2020 w3 SR
¥ foritegs TA3 gee ACsIs e sgie o moww =% AT famet fesoe
Uit 2 farlos  »eoesHa ferdas &9 (200 HE) (W& 15)

Discuss the concepts of network trade and network products. Critically analyse India’s

performance in the manufacture and trade of network products. Do you think that the

Covid-19 crisis has presented India with a unique opportunity to replace China as the
manufacturing hub of the world? (200 words) * {Marks 15)

52=Td =UT niF Seeed 83Ut € Fowy 83 feuw %91 Sewgw 83Ut T 3y
W3 TUT THS TS T TIITI T MTISSHY EHBHE I| & 308 e I
dfes-19 Hae & F93 & HAS E@wmﬁgaﬂﬁamm?mﬁ
Har yers &3t 37 (200 FEE) (M 15)

Critically analyse the suspension of the Insolvency and Bankruptcy Code by the
Government of India in wake of the Covid-19 pandemic. (200 words) (Marks 15)



Q.6

Q.7

Q.8

Q.9.

Q.10

&fez-19 HotHt T96 F93 AIAGT EGATR A w3 EIOURt I8 § WSS &96 €
METSIHE TeABHE &9 1 (200 HEE) (e 15)

Comment on the stance of the Indian Government on the regulation of Cryptocurrencies
in India. What are the advantages and disadvantages of Cryptocurrencies in the Indian
context? Discuss. (200 words) : (Marks 15)

393 feg fueadry @ favisas fo3 3793 AT ¥ gv 89 feaust fe@) g9 ®

Hegg feu fgueadra € of @3-v= 76, feg@ ad| (200 FEE) (i 15)

In the post economic reforms period, the slowdown of agriculture sector of Punjab has
impacted and restricted the growth of other sectors of the economy which resulted into
marginalization of the state’s economy. Examine this statement critically. (200 words)

(Marks 15)
Ezgniafae FUS &% 9 dae ¥ SFtdt a3 € uhr 9 g9 9 © J9 39
o fegr ygfes Ifewr fom a9e 90 ©F wiefaasT o9 &d et fem ggs =
WEEESH feR@nE &9 1 (200 HEE)

(M 15)

Explain that with Covid’s looming impact on the economy, there is an urgent
need to increase skill imparting initiatives to hold onto India’s Demographic
Dividend. (200 words) (Marks 15)

Sfes T wige feerg §uT 5T 99 Y=t HoHY 393 © “‘SHIrfed f39158” e
Tz TE HOGS YT d96 T8 nifgns U@ € 393 Ag9s J1 feEW 9|
(200 HAST) (mx 15)

" Discuss the main aspects of the Atmanirbhar Bharat Abhiyan. What are the enabling

policy reforms and institutions that are needed to make this program a success?

Discuss. (200 words) (Marks 15)
MIHISIFT 93 nifgwis & WY Uy <986 a9 | fEr dagH € ot et 903
S gug w3 ARt T &3 31 fege a9 (200 AEL) (e 15)

Is the consolidation of Public Sector Banks a viable and sustainable solution to the
problem of rising Non-Performing Assets which are likely to get aggravated due to the
Covid-19 crisis? Discuss. (100 words) (Marks 10)

393 fog HIadT ¥ ©F Sdiaes & 56 UdediHgT SHCH (NPA) Tt mHfmwret
fragoit afes-19 Fae o796 <0 Ao 76, @ AT »i3 fag I 37 feog &39|
(100 HEE) (W= 10)




Q.11 Do you think that the reforms in Police as a law enforcement agency is one of the
bottlenecks in the internal security policy of India. Examine critically. (200 words)

(Marks 15)
of IAT AOT T X6 W q96 T ERAT @ UBH BO9 993 € viegst gdftar
a1Et ¥ 9A3 feodht Sa fev few 37 wivossHa Yhie a9 (200 FEE)

(M 15)

Q.12 Explain the ‘Dark Web’. How is it posing challenge to the law enforcement agencies?
What are the counter measures that India has taken in response to the cyber terrorism?
(200 words) (Marks 15)

59 39 € fenrfir I91 IES TY S9s TEmT EiHt Aery fea gESt i Un
9T J? AElET nisSsee © Aegy feu foR € Hasd ®E 993 3 off meuamit
nUTEMT 387 WEEsSHR UTHE a9 (200 HIE) (M 15)

Q.13 Often the causes of violent extremism are categorised into ‘push’ and ‘pull’ factors and
overlooks the links between ‘individual’ and ‘community’ factors. Critically examine the
individual and community factors which are useful to understand extremism in India?
(200 words) (Marks 15)

fSra widaee 2 aroe mERe ‘e’ w3 Tag’ @R T9eiiys 9T I8 mi3 foumtes

w3 AYETEd &9aT feUaY 931 § SHIneH o137 7eT I wiEawe g AHsE fo3
fnE3eE w3 AHTEd 96T @ WEOSSHE [EESHE 91 (200 HEQ)
(i 15)

Q.14 India has been strongly criticising state sponsored cross-border terrorism. With what
approaches India has been countering this type of terrorism. Give your opinion especially
in context of India’s neighbours. (200 words) ' (Marks 15)

I T AIYAST IS HIHT UT wisaere ©f 3793 AYS foud! ager faor 91 fem foamy
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feim 9o w93 © o= ¥R ¥ Feos few fe@1 (200 Huw)
(Wi 15)

Q.15 Consider the following loan (in ‘000 Rs.) extended by various lending institutions.

feds IImT o TEMiT ARge I% o3 a90 (g9 gufenr feg) J5 fou nieAs

fegrg|
o Public Sector Small Finance . Private
e Banks Corporations Banks
1993-94 233.8 365.3 283.4
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(i)
(ii)
(iii)

1984-85 | 301.8 484.7 473.8
1995-86 303.2 . 668.6 : 402.8
1996-97 365.2 992.8 536.6
1997-98 416.4 1067.4 686.8

Which of the three is the leading lender?

What percentage of lending is extended by the private sector in the year 1997-987

If the total loan extended in the market is Rs. 10,000,000 in the year 1995-96, then
what percentage of loan is extended by the sources other than the above mentioned
three sources? : (Marks 15)

feat 3ot feg' AW fos =37 d= 9?

1997-98 T 7% feg foidt 839 3 8 USins s9q fes?

T 1995-06 ¥ 7% &% 10,000,000/~ JUT 977 fezr Ifenr # 37 Bug fous 35
Aast 3 fewe 99 RIS & 6 ySias o o3

(MF 15)

Q.16 Based on the given data, answer the following questions:

fe3 wiaz 3 g3 Js o8 et v ey e

(i)
(i)

Village X Viilage Y
Average income (in Rs.) 1750 1860
Standard Deviation of income (in Rs.) 100 81
Number of Employees 600 500

In which Village is the variation in income greater?
What is the combined standard deviation of the Village X and Village Y put
together? (Marks 7+8=15)

8) far filz feg nives ©F 8837 (variation) =0T T
ni) fils Xxn2 iz v fier & ST S8 ASSI8 3<IEHs fdar J7?
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Q.27

The following ﬁhart_s depict the distribution
2018 along with their age distribution.

of tourists to India from various countries in year

2018 © 7% fefSs @ 3 wie 393 feg
WEHT TIAEE J|
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Parcentapge
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If per capita expenditure of tourists of USA, UK and China was Rs. 6000, Rs. 5000 and Rs. 4000
respectively and 6400000 tourists from these counties visited in 2018 then what was total
spending of tourists of these countries?

If 3200000 tourists that came to Indian in year 2018 were having age greater than 49 years then
how many tourists came to India from different regions as shown in pie chart?

If 65000 tourists came from China in year 2018 then what number of tourists under different
age groups came in that year? (Marks 8+7+5=20)

8) HeT wiHTter, Tal »i3 6 € TEgH T YT #f UaeT gHETS 6000, 5000 »3 4000
i3 2018 feu fegt ¥R 3 6400000 Gr3g »E 3t fog AT T wEPH T Q Haw flar FY
i) 7 2018 Te9 393 MiEd »i€ 3200000 W3Y 49 7S 3 20 819 T A 3T uet gee feu
feurs nigaTg =8 Y u39T 3 45 wsdt 3793 feg wiE |

¥) 7 A% 2018 feu 915 3 9793 fev 65000 U3dt »i® 37 28 Sug 8H9 oo feu f&3
[EIECTR
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